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ARITHMETIC

B.

(0 279lrt\'nlT5fft^^^^^^ of the following-
*333 and $851 • U) 2Rfil^

^"^ ^^s- and 634 rodr. ^^-^

ft. and 2788 rods%fol^e^ ^"^ 4543 gals^f (7)
,

' ^;/
«M63 and 11,75' ^em?- mX^"^ "43r m nutes 'It
marbles;

(9) 11592 hTrse/^> ^,9 ^^^^^^ and 2jJ-.]bs and 20539 ounces ;('o 7"?J?^9 horses; (,0/987
('2) 2769 tenths and 3195 temLl'"^' ^"^ 2057 thirds;

(0 What is the leno-fK ^r ^u .

exactly measure theSth anH^^"^-' '^^^'" ^^^^ ^i"land 312 rods lone anrfn& ^"^ ^^^ ^'^th of a oier^iJ
(2) Three sSltn ^ """^^ ^'^e? ^ P'^^® ^^

ft. aU 20 ?t, were cEto ?f?"^ respectively ,2 ft ,6equal length.
Wh^r.^r.^^tXcV^''^^^^^^^^^^^^^^ o'f

(3; Two cisterns hoW 11^- ,^P'ece?
ga Ions. Find thTlargH h!^T'''Kf^72 and 5088both cisterns. ^^^'^ ''^rrel capable of measuring

(7) Three lots mt^a^,,^^
>°4.ft. by u8 ft! fnd "^f^KT'*' »< ft- by .44 ftout in square beds of .JJ i

"'^ 9* f'- 'f these be l,L'

""^-f-^f bedstel'cht '''^"' P»-ib.e si^e^find '"he

58VW"« ^-S^rsT/n^r -" "'vide 600 and
.
('o) What is the I^n^ffc r I ''^P«<:l>vely.

«t.ck that will „^,2l '|,T\2^."'-«_ J°"««' measurin.


